Kurtosis

Univariate kurtosis can be defined in the following manner: 

Let X be a random variable with a population mean of 
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, then the j-te order central moment is defined as 
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 Univariate kurtosis is defined as
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. We also use 
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to denote kurtosis when X is a vector. Then 
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will be a vector of univariate kurtosis values. 
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 is a population parameter which can be estimated by 
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Multivariate kurtosis can be defined in the following manner:

Let X be a random vector having a mean vector ( and covariance matrix (, 
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 will be a measure of multivariate kurtosis which can be estimated with 
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 (Mardia, 1970). 

We will adopt the phrase of Browne (1984) p.64 “If all fourth-order cumulants are equal to zero we say that the multivariate distribution of the vector X has no kurtosis". This will of course also mean that all the observed variables 
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 has no univariate kurtosis
. When we in the following refers to kurtosis we actually mean univariate kurtosis. 

� In order for the reference normal distribution to have kurtosis of zero, 3 is often subtracted.


� � EMBED Equation.3  ���=>� EMBED Equation.3  ���





�PAGE \# "'Page: '#'�'"  ��A reasonable estimate of the multivariate kurtosis is the mean of the scaled univariate kurtosis estimates (Bentler, 1995)





If the univariate kurtosis increases in at least one of the observed variables and don't decrase in any of the others the common multivariate kurtosis will also increase.
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